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Hance 1 oo mombroo de 60 & 99

Sine A : 82(83)84—87(88)89—72(73) 74— 77(78)79—75(76)77
Sire B : 91(92)93—83(84)85—78(79)80—92(93)94—60(61)62
Sinie € © 96(97)98—84(85)86—98(99)100— 63(64)65— 76(77)
78
St A . 73<76<78<83<88
Sine B : 61<79<84<92<93
iue A 64<F7<85<97<99

FHloomce 1 fos mombres de 60 & 99
Sinve A . 82(83)84—87(88)89—72(73)74— 77(78)79—75(76)77
Sine B : 91(92)93—83(84)85—78(79)80—92(93)94—60(61)62
Sine € . 96(97)98—84(85)86—98(99)100— 63(64)65—76(77)
78
Sinie A 73<76<78<83<88
Sine B : 61<79<84<92<93
Sine b © 64<77<85<97<99




Hance 1 oo mombroo de 60 & 99

Sire A 80(81)82—93(94)95—96(97)98—67#(68)69—62(63)64

Stz B 79(80)81—90(91)92—60(61)62—89(90)91—95(96)97

Sinie € ¢ 84(82)83—74(75)76—71(72)73—64(65)66—84(85)86

Sirve A 63<68<81<94<97
Sirie B: 61<80<90<91<96

Sinie €. 65<72<75<82<85

Muomce 1 fos mombras de 60 & 99

Sine Rt 80(81)82—93(94)95—96(97)98—67#(68)69—62(63)64

Sine B : 79(80)81—90(91)92—60(61)62—89(90)91—95(96)97

Sine € . 81(82)83—74(75)76—74(72)73—64(65)66—84(85)86

Sinde A © 63<68<81<94<97
Sinie B: 61<80<90<91<96

Sinie € 65<72<#5<82<85




Huance 3 Loo kalloo d addikion

12+3= 15 15+7= 22
13+5= 18 14+7= 21
14+6= 20 16+5= 21
12+49= 24 12+8= 20
154+4= 19 17+8= 25
16+6= 22 14+8= 22

Huamce 3 Loo kallos d addikion

12+3= 45 15+7= 22
13+5= 18 14+7= 21
14+6= 20 16+5= 21
12+49= 24 12+8= 20
15+4= 19 17+8= 25

16+6= 22 146+8= 22




oomce & oo mombros de 60 & 120

Sirie A . 81(82)83—97(98)99—78(79)80—110(111)112—119(120)124

Sirie B 104(105)106—99(100)101—117(118)119—94(95)96 — 85(86)
87

Sinie € - 112(113)414—96(97)98 —109(110)111—119(120)121—98(99)

100
Sinie A :79<82<98<111<120
Sinie B: 86<95<100<105<418

Sinie € 0 97€99<110<4143<420

oomce & oo mombros de 60 & 120

Sine Rt 81(82)83—97#(98)99—7#8(79)80—110(111)112—119(120)124

Sine B 104(105)106 —99(100)101—117(118)119—94(95)96 —85(86)
87

Sirie € & 112(113)114—96(97)98 —109(4110)111—119(120)121—98(99)
100

Sinie A :79<82<98<111<120
Sinie B 86<95<100<105<118

Sinie € 1 97<99<110<4113<120




/ Huance 5 Loo doulles

Lo doulle do 10+ 20
2o doulle do 12 - 24
2o doulle do 15+ 30
2o doulle do 20: 40
2o doulle do 25: 50
2o doulle do 50 100
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/ Huamee 5 Loo doullos

Colleule oo doullleo o plluo wike pocsilble

~

Lo doulle da 10 : 20
Lo doullle do 12 ¢ 24
Lo doullle do 15 ¢ 30
Lo doulle de 20 40
Lo doulle de 25 50
Lo doullla do 50 - 100




Foomce 6 Lo mombres de 100 & 140

Strie A © 128(129)130—122(123)124—118(119)120—107(108)109 —

113(114)115

Sirie B 118(119)120—128(129)130—132(133)434—120(124)122 —
114(115)116

Sirie € . 126(127)128—123(124)125—109(110)111—101(102)103 —99
(100)101

Sinie A 108<114<119<429
Sinie B: 115<419<424<429<433

Sinie € 100<102<110<124<127

Hoonce 6 Loo mombros do 100 & 140

Sine A 128(129)130—122(123)124—118(119)120—107#(108)109 —

113(114)145

Sine B 118(119)120—128(129)130—132(133)134—120(121)122 —
114(115)116

Sine € 126(127)128 —123(124)125—109(110)111—101(102)103—99
(100)101

Sinie A - 108<114<119<129
Sinie B 115<419<424<429<133

Sinie €. 100<102<410<424<127
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Aot s ipine B glas it ol

10+45=

10+52=

10+31=

10+67=

10+ 34 =

10+28=

55

62

4A

77

b

38

10+15= 25
10+19= 29
10+30= 40
10+49= 59
10+51= 61
10+78= 88

Ajouta wma

10+45=

10+52=

10+31=

10+67=

10+34=

10+28=

55

62

77

b

38

dg%uﬂm_Ql,rQuo vike Tpﬁath

10+15= 25
10+19= 29
10+30= 40
10+49= 59
10+51= 61

10+78= 88




/ Hance 8 Lo muminakion deo mombres <100 \

Dmhwmwﬁlhm&ﬂ
QWMC’M 20.
AWMC’M 40
7 WC)M 70
3WMC’M 30
6WMC’M 60

c:wk 80

chx% /
/ Muemce 8 Lo muminakion des mombres <100 \

Dmhwmw&hm&w
zwc’wx 20.
AWC’M 40
7 Wc’m)ﬁ 70
3wc’wt 30
6W\wc’wt 60
8ch’wt 80

w ¢ 2ak 90 /




/ Huance 9 Loo soustnackions

20-4= 16 60-2= 58
40-6= 34 20-1= 19
50-7= 43 40-9= 31
60-8= 52 50-4= 44
30-5= 25 40-7= 33

\\jf;i_ 26 50-3= 47

Huomce 9 Loo soustnackions

20-4= 16 60-2= 58
L0-6= 34 20-1= 19
50-7= 43 40-9= 31
60-8= 52 50-4= 44
30-5= 25 40-7= 33

30-4= 26 50-3= 47
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20:

20:

20:
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12 a

19 a

14 &

13 a

16 a

20:

20:

20:

20:

20:
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L5-10= 35 15-40= 5
52-40= 42 19-40= 9
31-10= 21 30-10= 20
67-10= 57 49-10= 39
34-10= 24 54-10= 44
28-10= 18 78-10= 68
Homce 11 Enllover ume divgoiims
L5-40= 35 15-40= 5
52-40= 42 19-40= 9
31-10= 21 30-10= 20
67-10= 57 L9-10= 39
34-10= 24 51-10= 4/
28-10= 18 78-10= 68




%ww}kgmm dowce digaimeo

20+45= 65 20+15= 35
20+52= 72 20+19= 39
20+31= 51 20+30= 50
20+67= 87 20+49= 69
20+34= 54 20+51= 71
20+28= 438 20+78= 98
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20+45= 65 20+15= 35
20+52= 72 20+19= 39
20+31= 51 20+30= 50
20+67= 87 20+49= 69
20+34= 54 20+51= #1

20+28= 48 20+78= 98




